Physics 3204  Applications of Newton’s Laws

1. In the diagram below, a 24.0 kg box is pushed at a 25( angle with an applied force of 50 N. The coefficient of kinetic friction is 0.100.
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a) Draw a free body diagram for the box. Clearly Label ALL forces.

b) What is the acceleration of the box?

2.  Calculate the acceleration and tension when the coefficient of friction 0.12.


m1=12kg
m2=17kg
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3.  A 10.0 kg object is at rest on an inclined plane.  If the inclined plane makes an angle with the horizontal of 35(, what is the coefficient of friction?

4.  The diagrams below shows two blocks connected by a massless string over a frictionless pulley. 

a) What is the acceleration of each system of blocks? Show all workings.

b) Find the tension in the string
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